Solve using the short cut.

' 4&\ X=lb+32, \/X_:_qu

[ X=48) =105

) Bl=gx \2,\ _j”
’[qa"'-‘x_"

Use the distance formula to classify the triangle by sides
A(3,3) B(5,2) C(7,3)

AB

Conclusion:

BC =

AC



Solve for x.
43
1. A 2
X

58 60

3. S 4. 3X  2x+10
48 X 0

*If two polygons are congruent, then their corresponding angles
and sides are congruent.

What does that mean??

fjg K. LTY LK
IT%\K JRE LC



Example 1: Complete the congruence statement.

a) AHAL = ADWE H

by2L=LE //\\L

e A
€.) BP\ ~0OW
d) ,AHL = Z\WO0E /\
) EW = \A £\

W E

Example 2:

Name all pairs of congruent corresponding parts for APAC=AMAN.
agles siks
/peM TAY WA
/NELA AL N
AGYAN LY NN



Example 3: Find each segment or angle.

a.)Name the side opposite <REB. R

RB A

b.)Name the angle opposite AE.

/ ERA ; .

c.)Name the included side for

B and <BRE. . It
e R “included - overlaps
d.)Name the included angle for “OPPDGH@"_. Nmstc\'iﬁm{'
V

RA and EA.
(EAR

e.)Name the included side for
<EAR and <ERA. %

PA

Turn-in:
Make an origami bat

Homework:

worksheet §.3



